F2TIEAIRE ¥ 2 = 7 SN FHE KUK R 2 1/1

HH : 20200:8 H9H (H)~8H10H (H) =Y R A EBN A IR E R 7 — L (50m)

No. 98 Z+F 100m BEHEF R REDHR 58.76

L thEE >

B & £ Fr & FE KK B FH 50m
1Bkl EE J S SiEH 3 1/ 4 1:00. 92 29.28 9k ( 0.64)
2 THEOLD NEXT#E 3 1/ 5 1:02.07 30.01 8% ( 0.69)
3 H R A4 b~ VHEE 3 1/6  1:02.09 29.78 9%k ( 0.65)
4 FAHRTHE fiEE S C 1 1/ 3 1:02.32 30.14  9%% ( 0.70)
5 il LA SAVYT H13 1/ 2 1:02. 44 30.33  9#k (0.71)
6 KFn #v aFIHA i3 1/ 8 1:02. 66 29.83  8fk ( 0.69)
THE RS T/ NV IR B 3 1/ 7 1:03. 01 30.11 8% ( 0.69)
8 LAt H 2k Akl D 2 1/ 1 1:04. 45 30.90 8% ( 0.66)

HAOBRME: 8H10H 15:06



